
0140502

0418010

0404005

7708070

0412006

7110060
8210100

0140503

1106100

Order-nr. Description Number
0140502 tube 34mm x 2.25m for roof calf pen 1
0140503 tube 34mm x 0.10m for roof calf pen 1
0404005 straight wire bracket 33x33mm 1
0412006 plate for T-clamp 34x34mm 4
0418010 mounting clip 34mm 3
1106100 stopper 34mm 1
7110060 hexagon-head bolt M10x60 galv. 2
7708070 coach screw 8x70 galv. 6
8210100 hexagon nut M10 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0142500-O

Unit: mm

Date: 27-8-2015

roof frame for calf pen - HF

UK



IN BEHANDELING

A

NIET MEEGELEVERD

NIET MEEGELEVERD

0140502

0412006

Not included
wooden beam

Not included
calf pen

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0142500-A

Unit: mm

Date: 27-8-2015

roof frame for calf pen - HF

UK



0142511

0412006

7110060

0140503

7110060

0418010

0140502

0404005

7708070

1106100

7310030
8210500

8210500

8210500

Order-nr. Description Number
0140502 tube 34mm x 2.25m for roof calf pen 1
0140503 tube 34mm x 0.10m for roof calf pen 1
0142511 sideplate for roof frame for calf pen 2
0404005 straight wire bracket 33x33mm 1
0412006 plate for T-clamp 34x34mm 4
0418010 mounting clip 34mm 7
1106100 stopper 34mm 1
7110060 hexagon-head bolt M10x60 galv. 2
7310030 coach bolt M10x30 galv. 8
7708070 coach screw 8x70 galv. 6
8210100 hexagon nut M10 galv. 10

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0142510-O

Unit: mm

Date: 11-4-2019

side panel for roof calf pen HF

UK



C

B

Not included
wooden beam

Not included
calf pen

Not included
screws

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0142510-A

Unit: mm

Date: 11-4-2019

side panel for roof calf pen HF

UK



0150401

0150402

0453066

7112030
8212500

8210500

CC

B

DOORSNEDE C-C

mount the wheel frames for the add-on units crosswise:

Item-nr. Description Number
0150401 bottom frame for calf pen, no wheels 1
0150402 swivel wheel 125x40mm for calf pen 2
0453066 threaded strap M10/34x65mm galv. 4
7112030 hexagon-head bolt M12x30 galv. 2
8210500 self locking nylon nut M10 galv. 8
8212500 self locking nylon nut M12 galv. 2

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise. 
No rights can be derived from this drawing.

Number: 0150400-O

Unit: mm

Date: 23-9-2015

bottom frame for calf pen with 2 wheels

UK



0150451

0150456

0453066
8210100

Item-nr. Description Number

0150451 wheel frame for add-on unit 2
0150456 set of wheels for roll-away system 1
0453066 threaded strap M10/34x65mm galv. 4
8210100 hexagon nut M10 galv. 8

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise. 
No rights can be derived from this drawing.

Number: 0150450-O

Unit: mm

Date: 23-9-2015

set of wheels for roll-away system

UK



0150461

0150462

0290901

0290902

1102030

8312150

82125008312150

Order-nr. Description Number

0150461 handle frame without wheels 1
0150462 threaded end M12 1
0290901 bearing bush r20x4 L=62mm 2
0290902 nylon wheel r150 2

1102030 handle cover 30/30x110 2
8212500 self locking nylon nut M12 galv. 2

8312150 washer M12 (13x24x2,5) 4

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0150460-O

Unit: mm

Date: 23-9-2015

handle with wheels complete

UK



B

A

7306050
8206100

7306050
8206100

Item-nr. Description Number
7306050 coach bolt M6x50 galv. 4
8206100 hexagon nut M6 galv. 4

B board for slatted floor calf pen 1

Item-nr. Description Number
7306050 coach bolt M6x50 galv. 2
8206100 hexagon nut M6 galv. 2

A slat for slattedfloor calf pen 1

Item-nr. Description A B
0150832 slat for slattedfloor calf pen 82cm 0150831
0150834 board for slattedfloor calf pen 82cm 0150833
0150932 slat for slattedfloor calf pen 92cm 0150931
0150934 board for slattedfloor calf pen 92cm 0150933

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise. 
No rights can be derived from this drawing.

Number: 0150x3x-O

Unit: mm

Date: 29-8-2019

slat/board for slattedfloor calf pen compl. 

UK



0150110

0150119

A

B

C

7306050
8206100

7806060
8206500

Item-nr. Description Number
0150110 slat 122 cm for floor calf pen 2
0150119 side panel for calf pen 2
7306050 coach bolt M6x50 galv. 16
7806060 square hook M6x60 duplex galvanized 4
8206100 hexagon nut M6 galv. 16
8206500 self locking nylon nut M6 galv. 4

A slatted floor 128cm for calf pen 1
B back frame calf pen 1
C front gate + frame for calf pen -HF 1

Item-nr. Description A B C
0152820 calf pen, single unit 82cm wide - HF 0150830 0150840 0152822
0152920 calf pen, single unit 92cm wide - HF 0150930 0150940 0152922

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0152x20-O

Unit: mm

Date: 26-1-2021

calf pen, single unit - HF

UK



page 1 of 2

0150110

A

B

C

0150119

7306090
8206100

7306070
8206100

Order-nr. Description Number
0150110 slat 122 cm for floor calf pen 2
0150119 side panel for calf pen 1
7306070 coach bolt M6x70 galv. 4
7306090 coach bolt M6x90 galv. 6
8206100 hexagon nut M6 galv. 10

A slatted floor 128cm for calf pen 1
B back frame calf pen 1
C front gate + frame for calf pen -HF 1

Bestel-nr. Omschrijving A B C
0152821 calf pen, single unit 82cm wide - HF 0150830 0150840 0152822
0152921 calf pen, single unit 92 cm wide - HF 0150930 0150940 0152922

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise. 
No rights can be derived from this drawing.

Number: 0152x21-O

Unit: mm

Date: 27-1-2021

calf pen, add-on unit - HF

UK



7306090

78060607306050
82065008206100

8206100

7306070
8206100

*when adding add-on unit calf pen, mount square hook 7806060
   to outside walls

page 2 of 2

Item-nr. Description Number
7306050 coach bolt M6x50 galv. 16
7306070 coach bolt M6x70 galv. 4
7306090 coach bolt M6x90 galv. 6
7806060 square hook M6x60 duplex galvanized 4
8206100 hexagon nut M6 galv. 26
8206500 self locking nylon nut M6 galv. 4

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise. 
No rights can be derived from this drawing.

Number: 0152x21-O

Unit: mm

Date: 27-1-2021

calf pen, add-on unit - HF

UK


